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END OF TERM 1 EXAM

GRADE 11.9

PHYSICS

DURATION: 1 hour 40 minutes                                    26.03.2010                           
Instructions: 

Write your complete name in the space on top of this page. 

During this paper you are only allowed to use a pen, a pencil, an empty rough paper, a ruler and a calculator.

This paper has two sections (A and B). Answer all questions of both sections.

Read and follow the instructions given at the beginning of section A and B.

Obmission of essential working will result in loss of marks.

Further information:

The number of marks is given in brackets [ ] at the end of each question or part question.

The total amount of marks that can be arrived for this paper is 35.

!!!CONCENTRATE AND ALL THE BEST!!!

SECTION A  [10 marks]

Answer all questions by putting a cross (x) in at least one answerbox (( ).

1. Change the unit:                                                                                              [3]

a) 600.34 mg= ( 0.00060034 kg   ( 600340 g    ( 0.00060034 t    ( 0.60034 g

b) 16 KJ       =  (16000000J          ( 0.016 J       ( 16000 J            ( 0.016 MJ

c) 14.3 mm   = ( 14300 cm           ( 0.0143 m    ( 143 cm             ( 0.143 cm

2. Triza entres the class 11.9  by  pushing the door 40cm next to the hing. If the moment of the force is 8 N, how much force did Triza apply?                      [1]

              ( 20 N                     ( 3.2 N                     ( 5 N                         (  2N

3. If Mwamba applies during athletic games a force of 500 N on a shortput ball of 2500g. What acceleration does the shortputball have?                                 [1]
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4. Which of the following statement/s concerning energy is not correct?          [1]

      ( energy is measured in Joule

      ( energy transferred is equal to the work done

      ( kinetic energy is equal to potential energy

      ( energy can’t be changed, but it can be destroyed

5. Nyause is driving bicycle upwards a mountain and switches to a lower gear to invest less effort. If the siwch between these both gears has a mechanical advantage of 3, how many teeth does the lower gear have, if the bigger one has 48?                                                                                                         [1]

             ( 12                          ( 16                           ( 45                                 (  24

6. Which of the following statements is/are wrong?                                         [1]

             ( all molecules have energy.

             ( Molecules of a solid vibrate,  but don’t change their positions.

             ( A liquid has a fixed shape, but no definite volume. 

             ( gasmolecules occupy all possible space.

7. Which of the following/s is a reason for evaporation                                     [1]

       ( The air is lighter than the liquid, so that molecules are attracted.

       ( gasmolecules have such a strong potential energy, that the 

          liquidmolecules are attracted. 

       ( some molecules have more kinetic energy than others, so that 

           they can escape.

       ( The molecules split themselves into many small parts and are light enough  

           to fly away.

8. Is the energy supplied in 1 minute to a 6 kilowatt heater                    [1]

      (  3600 J                      ( 600 J                   (  6J                     (  10 J 

SECTION B  [25 marks]

Answer all questions on the provided answer sheet. Show all your working!
9. The figures below show the same spring, once without any mass hung on it (figure 9.1), and once with a mass of 500g hanging from it (figure 9.2).





                                      5cm                                                  

          fig. 9.1                                                       fig 9.2

                                                                                                                9.8 cm

                   


a) What is the unstreched length of this spring?  [1]

b) How big is the streching force in figure 9.2?    [1]

c) How big would the extension be, if the force

              streching this spring was 2.5 N ?           [1.5]          

                                                                             500g

10. X is representing Mr. Kubach, who has a mass of 90 kg. S is representing a stone of mass 315 kg

a) How far away from P (distance a) must he place himself on the woodbar, so that he can balance the mass of the stone S on the 

      other side? (given that distance PS is 80cm)                                [1.5]

b) Explain what would happen, if Mr Kubach (X) comes closer to 

     the Pivot P ?                                                                                     [1]

                                                                                            a

                                                                       

                      X                                  P                               S                

11.  Chiboola throws a ball of mass 0.3 kg vertical upwards from the ground with an initial velocity of 40 m/s.

a) How many seconds will it take for the ball to strike the ground again? [1]

b) How big is the kinetic energy of the ball at it’s highest point?               [1]

c) Calculate the potential energy of the ball at it’s highest point.           [1.5]

12.  Mention at least three ways, how a liquid can evaporate more quickly.      [1.5]

13.  A crane can lift a 600kg mass through a vertical height of 14m and produces    

            with that a power output of 0.4kW. 

a) How long did it take the crane to lift the mass 14m?                         [1.5]

b) If the motor has an efficiency of 80%, what power input is required? [1]

14. Petronella lifts her bag of 2kg mass from C to B and does in that process a work of 240J.

a) How high is the ramp (distance CB)?                                             [1]

b) How much potential energy does the bag have at 9m height?       [1]

c) If the bag slides down on the other side of the ramp (from B to A), 

what velocity does the bag have at A?                                           [1]

d) In case the bag is falls down from B to C again, how much 

                      kinetic energy will the ball have after ½ of the distance?               [1]

                                                    B

                  A                                C       

     

15.  The following figure shows a lever which is used to lift boxes into a truck.

                                                                                                          

         A                    10m                                                         2.5m


            80cm                                                                               40 kg            a

                                                                                                                       


                                                            Pivot

a) How much effort has to be applied at A, so that the box of mass 40 kg  

                      can be lifted?                                                                                       [1]

b) How much work is done in lifting the box?                                           [1]

c) What’s the mechanical advantage of this lever?                                  [1]

d) How heigh is the loading area of the truck (distance a)?                     [1]

e) What’s the efficiency of this machine?                                              [1.5]

16.  Give a definition or explenation to one of the three following keywords:

  Evaporation, Diffusion, Brownian motion                                                    [2]
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